
N2X

n=N1

rn = rN1
1� rN2�N1+1

1� r
=

rN1 � rN2+1

1� r
<latexit sha1_base64="so1HfScLGTO9bYZfTVeXYyCtcrQ="></latexit>

N2X

n=0

rn =
1� rN2+1

1� r
<latexit sha1_base64="B4dhaJf13+q2urEf6vmEwRHEOqs=">AAACF3icbVDLSgMxFM3UV62vqks3wSII4jBTBd1UCm5cSQX7gHY6ZNJMG5pkhiQjlGH+wo2/4saFIm5159+YPhbaeuDCyTn3kntPEDOqtON8W7ml5ZXVtfx6YWNza3unuLvXUFEiManjiEWyFSBFGBWkrqlmpBVLgnjASDMYXo/95gORikbiXo9i4nHUFzSkGGkj+UW7oxLup6LiZN301i9nUHZTkVU6oUQ4dU/lRD1xs2z8yPxiybGdCeAicWekBGao+cWvTi/CCSdCY4aUartOrL0USU0xI1mhkygSIzxEfdI2VCBOlJdO7srgkVF6MIykKaHhRP09kSKu1IgHppMjPVDz3lj8z2snOrz0UiriRBOBpx+FCYM6guOQYI9KgjUbGYKwpGZXiAfIJKJNlAUTgjt/8iJplG33zHbuzkvVq1kceXAADsExcMEFqIIbUAN1gMEjeAav4M16sl6sd+tj2pqzZjP74A+szx8cyJ85</latexit>

1X

n=0

rn =
1

1� r
<latexit sha1_base64="fwjl9YsiMEWtMTIHqtsht/kF8fE=">AAACEHicbVDLSsNAFJ3UV62vqEs3g0V0Y0lU0E2l4MZlBfuAJi2T6aQdOpmEmYlQhnyCG3/FjQtF3Lp05984bbPQ1gMXDufcy733BAmjUjnOt1VYWl5ZXSuulzY2t7Z37N29poxTgUkDxywW7QBJwignDUUVI+1EEBQFjLSC0c3Ebz0QIWnM79U4IX6EBpyGFCNlpJ597Mk06mledbKu9igP1TiDoqt5VvVCgbB2M+2eiqxnl52KMwVcJG5OyiBHvWd/ef0YpxHhCjMkZcd1EuVrJBTFjGQlL5UkQXiEBqRjKEcRkb6ePpTBI6P0YRgLU1zBqfp7QqNIynEUmM4IqaGc9ybif14nVeGVrylPUkU4ni0KUwZVDCfpwD4VBCs2NgRhQc2tEA+RyUGZDEsmBHf+5UXSPKu45xXn7qJcu87jKIIDcAhOgAsuQQ3cgjpoAAwewTN4BW/Wk/VivVsfs9aClc/sgz+wPn8AZo2dag==</latexit>

si |r| < 1
<latexit sha1_base64="5US5Tfnu0pG4fYWbxki7J2VcBSg="></latexit>


